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 Note: i) All questions are compulsor
Y.

ii) Figures to the right indicate fy)j ks
marks.

iii) Give query example whereyey p
. ecessary,

Q.1 Attempt any Four, 2] 5
: ’ [20]

2) Explain Normalization with 3NF‘ and BCNF.

y) What are the disadvantanes of fil
e management S 9
ystem?

¢) ‘What do you mean by a Weak entity set?
d) E,\'plam the terms-
i) Entity Set
ii) Relationship Set
iii) Attributes
¢) Explain cardinality constraint.
N Wriie:a short note on — Generaiization.'
g) What do you mean by DBMS? What are/iits applications? -

h) What do you mean by total participationandpartial participation?

Q.2 Attempt any Four. e IZ(H
a) t\plam select and projection operators. |
b) Explain DDL statements used in SQL? Give-example of each
din SQL°

¢) What do'you mean by constraints? What are different types of constraints use

d) Explain domain relatlonal calculus.

¢) What do you mean b» correlated subquer)" Explain with e\ample
f) What do you mean by join? Explain Right join and Full Outer Join with suuable e\amplu.
o) Fxplain any five string functions used in SQL. - :

h) Consider following tables-
Book(bookid, title,‘author,publisher,category,price)

Distributor(distid,bookid bookid,dname,city)

Orders(orderno bookld,d|snd,qty)
: P.T.O.

Solve following queries —

Scanned by CamScanner



ere——t 1 T T -

i co
{ MPY;
(1 :
| | j . YCDog0 Q
g wc C8) @ thor * Henry Kornh'
| By - au
| / l)DlSPlay the details of book whose order is placcd having the

A :
il and pubhsher "TMG* antity- total nump,
ql ¢

dercd
“t) Find out minimum of ordered quantity, maximum oA
Oborders placed by each distributor.
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Q.3 Attempt any Four, ' : PL/SQL block to

er. Wwrit
a) Create a Stored procedure to calculate factorial of a glven nome
cxecute the same.

-

b) Explain the types of indexes with suitable example.
¢) Differentiate between a table and a view.
d) Explain Row Leve] trigger with appropriate example.

¢) Write a short note ol - Hash index bl

| | . ' ) jve suiabie
) What is a view? Explain tHe syntax of creating and altering a view i
example of each. ' 7

¢) What are the advantages and disadvantages.of stored procedure? et

h) Writela short note on - Heap File.

Q.4 Aﬂemp»t\zi'ny{h ree. [15]

| ~a) Explain all three levels of abstraction.
b) Write a short note on — Aggregation.
¢)Explain the following operation with appropriate examples:
‘1) SELECT INTO
~ii) UNION
d) E.\'plaih!tblk)'\\-'ing clauses with suitable example:
i) HA VING éfausc
i) ORDER BY clause .
iii) GROUP BY clause
¢) Explain Tree index with example.

f) What do you mean by a trigger? Explain statement level trigger with suitable example.

—— The End —
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